


Includes fasteners: 
1/ 06 sets of M6x40 with nuts and washers 
2/ 03 pcs of Wood screws with washer 5x20mm 
3/ 06 sets of M8x60 with washer 8x 30 and square nuts M8 32x32x4  
4/ 04 sets M6x25 with lock nuts and washers 
5/ 08 sets M6x15 with washers and nuts 


